Lecture 22

Implicit Differentiation (Not in textbook)

Up till now, we were given an expression for a function y=f(x) explicitly, and then we differentia--ted it. But what if the expression of y & given implicitly?

e.g. (1)
$$x^{2} + y^{2} = 1$$

(2) $2xy + 3x^{2}y^{2} = e^{x}$
(3) $ln(xy) + 2y^{2} = sin(y)$

In all the above examples, we do not have an explicit expression as y = "something". Rather, we have an expression which involves both x (independent variable) and y (dependent variable) and we want to find $\frac{dy}{dx}$.

Thus, wherever we see an expression involving y, we differentiate it using the same sules as before, but we also write y'or $\frac{dy}{dz}$ with it as

me are just following the Chain sule.

Find y'or dy ie the examples above.

1)
$$x^2 + y^2 = 1$$

Differentiating both sides glue
 $2x + 2y \cdot dy = 0$
 dx
chain null for $y^2 \cdot (2y \text{ from the power rule})$
and dy because of the dx chain rule.)

$$= D \quad \sqrt{2} \left(x + y \frac{dy}{dx} \right) = 0 = D \quad y \frac{dy}{dx} = -\mathcal{Z}$$
$$= D \quad \left(\frac{dy}{dx} = -\frac{\mathcal{Z}}{\mathcal{Y}} \right) \quad \left(\frac{dy}{dx} = -\mathcal{Z} \right) \quad \left(\frac{dy}{dx} = -\mathcal{Z} \right)$$

2.
$$2xy + 3x^2y^2 = e^{x}$$

We differentiate everything and use the product rule
for both the terms on the LHS.

$$\frac{dy}{dx} + \frac{dx}{dx} + \frac{dx}{dx} + \frac{dx}{dx} + \frac{dx}{dx} + \frac{dx}{dx} + \frac{dy}{dx} = e^{2x}$$

$$\frac{d}{dx}(2xy) + \frac{d}{dx}(3x^{2}y^{2}) + \frac{d}{dx}(e^{x})$$

$$\frac{dy}{dx}\left(2x+6x^{2}y\right) = e^{\chi}-2y-6xy^{2}$$

$$= \frac{dy}{dx} = \frac{e^{\chi}-2y-6xy^{2}}{2x+6x^{2}y^{2}}$$

3.
$$\ln(xy) + \partial y^2 = \sin(y)$$

We differentiate both sides and use chain sule
to get
 $\frac{1}{xy} \cdot \frac{d}{dx}(xy) + 4yy' = \cos y \cdot y'$

$$= D \frac{1}{xy} \left(y + xy' \right) + 4yy' = \cos y \cdot y'$$
$$= D \frac{1}{x} + \frac{y'}{y} + 4yy' = \cos y \cdot y'$$
$$= D \frac{1}{x} = y' \left(\cos y - \frac{1}{y} - 4y \right)$$
$$= D \frac{y'}{x} = \frac{1}{x \left(\cos y - \frac{1}{y} - 4y \right)}$$

Applications of Derivatures

We'll now see the applications of derivatives. The topics in this section will include



- (4) The values of the function starts decreasingofter increasing at the point "b" and the tangent line is horizontal at b, i.e., the slope = 0.
- (5) The function again statts increasing from point "c" onwards and the derivature at 'c" DNE.
- (c) The function to undefined at "d" and the behaviour of the function again changes from increasing to decreasing at the point "d". Again, recall that slope of the tongent line at zbeing possitive (respectively negative) means that f'(x) > 0 (respectively f'(x) < 0).
- Def ":- A function f(x) on on interval I is said to be • increasing if $\forall x_1, x_2 \in I$, $x_1 < x_2 = \mathbb{P} f(x_1) < f(x_2)$. • decreasing if $\forall x_1, x_2 \in I$, $x_1 < x_2 = \mathbb{P} f(x_1) < f(x_2)$. Thus, the function whose graph is given above is

• increasing in [Q,b] and [C,d] • decreasing in [b,c] and [d,e]

0 -----

- ~ -

In the next lecture, we will learn the test to find the intervals where the function is increasing /decreasing.

o _____ o